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The World Health Organization has
declared Africa wild polio-free. The
disease is now found only in which of
the following countries :

(a) Afghanistan and Pakistan
(b) Afghanistan and Kyrgyzstan
() Uzbekistan and Pakistan

(d) Kyl‘gyzstan and Uzbekistan

Which of the following statements are
Correct ?

1. The DNA Technology (Use and
Application) Regulation  Bill,
2019 provides for the regulation
of use of DNA technology for
establishing the identity of
certain persons.

2. DNA is made up of 26 pairs of
chromosomes and provides
instructions for building an entire
organism and proteins.

3. DNA is composed of two chains,
which coil around each other to
form a double helix carrying the
genetic instructions used in the
growth.

4. Under the Bill, DNA profiling
is allowed only in respect of
criminal matters.

Select the correct answer using the
code given below :

(a) Only 1 and 2
(b) Only 2 and 3
(¢) Only1and3

() 1,2 3and4

(RAS=S28

fors sEst feg' fagar At 3 7

L 82 338ta (@93 i3
feo9) JgeHs fam, 2019 o3
fenadnt & oz & mEfus
XI5 BT FE.E. IFEH of
TI3 & Ig¥He T T |

2. SIBE FoHmHT ¥ 26 wet
ganm 3 w3 fex-ud He w3
s T fsos dho gofest
HIEMT g9 T |

3. St © s o ge39 3 3
95 o 59% Ifsam 5e82 75 3
ﬁamwﬁ%%angjﬁil

4. % T nits d=s  wuatym
m@w@ﬁ%éﬁa@m
g nrfamr I

ﬁ?Hﬁ&?gﬁ?ﬁmﬂﬁ@B—dg%

(a) O<® 1 M3 2

(b) =B 2 M3 3

() d=H 13 3

d 1,2, 303 4

(fo7'8

el
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the
and

5 Recently., Union Minister of

merce Industr

gzlgonal GIS-enableqd I}:an:iaurg:i

System. Which of the following

statements are  correct ahout the

system :

. The platform is created to provide
database of industria] clusters
over South India.

g The information available on the
platform  includes
about  forest,

information

drainage, raw
material heat maps (agriculture,
horticulture, mineral layers) and
multiple layers of connectivity.

3. It will help India in achieving its
target of 5 trillion USD economy
in five years by providing
transparent mechanism of land
identification and procurement.

Select the correct answer using the
code given below :

(a) Only 1 and 2
(b) Only 2 and 3
(¢c) Only1andS3
(d 1,2and3

Consider the following statements :

1. Pratheeksha is India’s first
Marine Ambulance launched by
Kerala Govt.

2. It aims to save the endangered

Indian Mackerel and Olive Ridley |

Turtles from poachers off the
Kerala Coast.

Choose the incorrect statement(s) :
(a) Only1

(b) Only 2

(¢) Both 1 and 2

(d) Neither 1 nor 2

3.

A= 3

g% It T feg, sug w3 GEWd ©

e S

IHeS T rEr .

festums ¥z ¥x famen (@i B
ygn) g&tent J | faus feo fer ygu
g9 fd93 sg9s Adt 95 2

fors qEat § feug .

1. Yf3mr, 9% @nfla’ wids A=t
et 39z @ ufgs  AEdt
WMESH J |

2. fem = fogs 9% © I3t
frwfant feg w39 feg we
g3t Hags i3 Gfes fazadw
gt & AIfmi3 ST6T J |

%3 IS IS

(a) A= 1

(b) O=H 2

© 1n3 2%

(d) 3 1mM3 a2
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5 ICMR published “National Guidelines

5.
for: Gene Therapy Product
Development and Clinical Trialg”.
Which of the following statements are
correct about Gene Therapy Product
(GTP) ?
1T %s defined as any biological

entity, having the requireq gene,
that could introduce
modifications in the genome for
therapeutic benefit.

2. GTPs work by  repairing,
replacing or deactivating
dysfunctional disease-causing
genes to restore normal function.

3. As per the New Drugs and
Clinical Trial Rules (2019), the
GTPs falls under ‘new drug’ and
shall always be deemed as ‘new
drug’.

4. Thalassemia, Gaucher’s disease,
Sickle cell anaemia and
Haemophilia fall under the
genetically inherited disease
category.

Select the correct answer using the

code given below :

(a) Only 1 and 2

(b) Only 2 and 3

() Only1,2and3

() 1,2,3and4

A (A-4)

MELH TS, 3 Se o R
Suw feam w3 wedifoss orfews
I Y | e R dsse (AR

"9 fons usr feg' 7t g 2
1. feg feq s s g dfenr
Hie fefammsa 3T 3, 7 sfasnx

qfeT FE Iy feg mEewm
oo AT I |

2. WM. yaowdts @l e
B Htst § vz, IEEm
fafonrdts  safent, »mt yaram
3 HI HerS I9w T |

3. *=I5 399 M3 IHfeTH TfE®
fowHt, 2019 wisAg A
Fde S T WY feg mr@e I
AHIST Frear |

4. EIEr, deew S, fras
A nidhior w2 Tifefonr Sfea
R A Tt (inherited
disease) T feast feg e

5 |

fors st § =I3fent At €39 T&
(a) O=H 13 2

(b) O=H 23 3

() o<H 1,23 3

d 1,2,3m3 4
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6.

The Prime Minister of India
the mega plan .of' “One Sun, QOpe
World, One Grid” Project ip the
il pendePce Day addregg Which of
i followmg_ statements 4
about the project 2

b is a transnation
grid  supplying
project.

9. The idea of the project was first
introduced in 2018 during the
first assembly of International
Solar Alliance,

3. China was the only member

country to resist this proposal
during the ISA meet.

Select the correct answer
code given below -

(a) Only 1and?2

(b) Only 2 and 3

(¢0 Only1and3

(d 1,2and3

The Government of India has

constituted National Council for

Transgender Persons. Which of the

following statements are correct about

the Council ?

1. The Council will be headed by the
Union Minister of Social Justice
and Empowerment.

2. The Council is a statutory body

mentioned

Te correct

al electricity
solar  power

using the

found under Transgender
Persons (Protection of Rights)
Act, 2019.

3. State level and District level
councils for each State will be set
up under this act to address the
grievances of transgenders at
grassroot level.

Select the correct answer using the

code given below :

(a) Only 2 and 3

(b) Only 1 and 2

(¢) Only1and3

(d 1,2and3 .

(A-5)

feawfég”ﬁw@a%@ﬁaaéi?

1o yhise a9 s o3 qms

HIT T8 2

1. &9 5ot Qowr yes a9 ug
ITHEST Rt aiffs yiee ¥ |

2. feR ymaz w fegg 2018 fog
YiZITHSS mot mfotar
Ufodt  festzasr S fenior
famm /Y |

3. dts It fex nifmor Mg 2w
A & AR, T fims o9
fer 3u<ty & feduzs At At

fors ozt § Tasfent mft 839 g3 -

(a) oA=H 1 M3 2

(b) =B 2 M3 3

(c) =B 133

d 1,23 3

e I A% Ife3 St ¥ 1 fen

J5 ? ;

1. AHHI fonit w3 wifuargsr o
Jedt 3Rt fem IfHw ot
WISHST 9ar |

2. OfA®s <IFEasgd  forsSr
(nifgarst & aIfamm) Mae, 2019
nruﬁﬁi'?ﬁgmétfsaa@ﬁ

HI65 J |

3. fem nioe nifts  comYsg
HHIST Yud 3 % 95 BT 99
IH feg 99 Judt w3 Wiersiy
SfAST HETUS =St Trsainft |

fons st 3 =9sfent At €39 e -

(a) OB 2 M3 3

(b) =B 13 2

(c) oF=H 1M3 3

d 1,203 3
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The Ministry of Environment, Forest
and Climate Change recently
published the draft Environment
Impact Assessment (EIA) Notification,
2020. Which of the following

statements are correct about EIA ?

1. It predicts the effect of a proposed
industrial/infrastructural project

on the environment.

2. It prevents the proposed
activity/project from being
approved without proper
oversight or taking adverse

consequences into account.

3. It compares various alternatives
for a project and seeks to identify
the one which represents the best
combination of economic and

environmental costs and benefits.

4. As per the new notification, Coal
and non-Coal mineral prospecting
and solar photovoltaic projects do

not need - prior environmental
clearance.

Select the correct answer using the
code given below :

(a) Only 1 and 2
(b) Only 2, 3 and 4
(¢) Only1,2and3

(d) Only1,2and4

(A-6)

S3RIE, T w3 7Sy Ufgedss
MO 3 emegs YSR HIxE
(et 2. mfaESaT, 2020 = s9ee
IS It o5 yarfirs gt | St
éaﬁﬁﬂmaw%@'ﬁsm?Hﬁ%?

L feg ST Betifaa/

(Prospecting) »i=3 I Seemea
@ 33 5 T |

feres 3t 3 gefontt 7t 835 g% -
(a) =B 103 2
(b) d=H 2,33 4
(c) d<® 1,203 3

d) =B 1,203 4
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Recently Decarbonising Transport in
[ndia’ proj'ect was launcheq by NITI
Aayog in collaboration with
International Transport Forum (ITF).
[dentify the incorrect statement,

(@) It aims to develop a pathway

towards a low carbon transport
system for India,

() The project will design a
tailor-made transport emissions
assessment framework for India.

(¢) India, Azerbaijan, Nigeria and
Morocco are the participants of
the Decarbonising Transport in
Emerging Economies (DTEE).

(d) None of the above

10. The United Nations Environment

Programme and International Energy
Agency jointly released a ‘Cooling
Emissions and Policy Synthesis
Report’ (CEPSR). Which of the
following statements is/are correct
about the report ?

1. It is based on assessment of
development and climate benefits
of efficient and climate-friendly
cooling.

2. It lays out actions that can be
taken to deliver efficient and
climate-friendly cooling for all.

Select the correct answer using the
code given below :

(a) Only1

(b) Only 2

(¢) Both 1 and 2
(d) Neither 1 nor 2

10.

(A-T7)

SISt e 3 gt feg nizgarHedt
TI6 TIH (MR ANE.) T &% HS
StergEsTfefiar zgmige fos fEfomm

®d) &g ymoe =ust & fsgme

(c) B3aEhm nidfgaz=r feg 393,

GFt.aeter) 9 s 7% |
d) €3 fev JEt 5at
AUd3 dHST ITI=IE YdTH W3
n399HSS €9 EHAT 3 fues A
fouge (et aierg.) Fdt st
J | fer fouge 9 foHs aEs fou
faag mat /a5 2

1. f&g 3A® 3 IIRIET 1EdH
IS € ABRE B w3 feam
T HoaE 3 morfas T |

2. feg Afoni &t IA® w3 A%y

n@gﬁmmmaﬁ@
A ASE % J9d § ©IHGE
J |

(a) o= 1
(b) AH 2
() 1wn3 2%

(d B 190332
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Which of the following statements are

correct regarding Virtual Water Trade
(VWT) ?

It refers to the import and export
of hidden water in the form of
products such as crop products,
textiles, machinery and livestock
which require

water for

production.

The concept was introduced by
Tony Allan in 1993 to explain the
import of water intensive
products in arid and semi-arid
regions in the Middle East and

North Africa.

3. The World Water Council is

headquartered at  Marseille,

France.

Select the correct answer using the

code given below :
(a) Only1
(b) Only 2
(¢) Only1and 2

(d 1,2and3

(A -

11. foHs FEst feg foaggr eggni® Ted
238 (F3efER.2) a9 At I ¢

feg gt & G3ue, U
SBues sty S FF I T U
feg wefere ust & mas w3
foqums 79 T |

feg fegg 2t niws & 1993 feo
Ho-ygdt w3 83 wniedlar <
H'g »3 MIT Hig ¥t feg Ut
g weRgsr @@ G3uwet ¥
w3z & fenrfimr ®ET B
3T |

fere ust IfAs @ MY TS39

HIR®, e9F feg T |

foHs I3t T =93 J9¢ IT At €39

-

TR

(a)

(b)

(c)

(d)

8)

qTH 1
=B 2
A% 1 M= 2

1,203 3
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12 Recently’ the 15th

‘ India—European
Union Summit wasg helq through a
Virtual medium. WhiCh of the

following
are correct about the Summjt

?

1. ‘India-EU Strategic Part
A Roadmap to 2025’ wq
to guide

nership :

S adopted
Cooperation between

India and the Ry Over the pext
five years.

9. Adopted declarationg on Resource

Efficiency and Circular Economy.

3. An agreement between
India-Euratom (European Atomic
Energy Community) on research
and development cooperation in
the peaceful use of nuclear energy

was signed on the eve of the
summit.

4. An agreement between Europol
and CBI signed to combat
terrorism and organized crime.

Select the correct answer using the
code given below :

(a) Only 1and 4
(b) Only 1 and 3
(¢) Only1,2and3

(d) 1,2,3and4

12. g% It fes veaat, SI3-GaUTs HIGS

¥ ¥5X (Summit) Tggnm HM

T ’ls 38 | fas o Box T

foo3 Fus 7R 75 9

1. I93-Ty. gsdtfsy gt -
2025 3 T AST § nE® 5 A
TE 393 »3 Fhy. ¥ Ao @

H'JAEIHS &t nystfonr
famrr |

»ﬂ‘q’faagw&é’r%@ﬂmr&%
e | ¥

(A-9)
Paper | :
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he Union Cabinet recently approved
= 3‘19 New Education Policy (NEP), 2020.
Which of the following statements are
correct about the policy ?

1. Compulsory allocation of 4% of

the GDP in Education sector by
the Union Govt,

Aims to bring the uncovered age

group of 3 — 6 years under school
curriculum,

Gross enrolment ratio in Higher

Education to be raised to 50% by
2030.

The policy envisages to set up

Gender Inclusion Fund.

5. The National Educational

Technology Forum (NETF) to be
created to provide a platform for

the free exchange of ideas on use
of to

learning.

technology enhance

Select the correct answer using the
code given below :

(@) Only1,2and4

(b) Only 1, 3and5

(c)

Only 2, 3 and 4

(d) Only2,3,4and5

(A-10)

S 2030 I IO X Ko% I

feo S o sz s
fesowms) @5 & meusr s
JIE T |

JHeSt  fRfimr st SIH
MBTAN) & gg=r g}

=B 2,3,4 w3 5
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. Ministry of Earth Sciences (MoES)
released a report titled ‘Assessment, of
climate Change over th, Indian

Reg’ion" Which of the following

statements are true ?

1, It is a first ever attempt to

document and assegg climate

change in different parts of India.

9. It highlights the observed and
projected changes in various

climatic dimensions over the

Indian region, their impacts and
various policy actions to deal with

the regional climate change.

3. The Indian Institute of Tropical
Meteorology (IITM) is located at

Coimbatore.

Select the correct answer using the

code given below :
(@) Only 1 and 2
(b): Only 2

(¢) Only1and3

(d 1,2and3

(A-11)

(0]

fefomes isamm (AH.8EAR.) &
9t A3 few Foew USRI
WoieE Herd fodge At oist J |
fEat feu" fauar sms 7t 95 ¢

~

1. feg 393 © fefgs gt feu
A%y Ufgedss g9 &y »i3

HBEE € gF 3 v ufg® o=86
J

2. feg 393t 939 fem wda Ao
ufgeasst, g ¥ wing w3 fey
g3t SRy UfgR93s 3
T-TASIT WA JP rgerehut
3 Q9w T |

3. 3F93 o dUla®m Hegear ot

HAET RpRIRRERE
afeHaes feg mETUR T |

(a) o<H 1 M3 2
(b) o=S 2
() =B 13 3

d 1,233
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15. The Accredited  Social : H‘jalth 15. nigefses A% %9 nactfeen
' Activists (ASHAs), a communllfLY'Rasedi (%Qﬁ%é% ) 3 Uz B
: der Nationa ura e : =
functionary un Ufgtimer - ¢ N v
Health Mission (NRHM), have been (318 g A A ) GRlE
supporting delivery of health care \LE g RS aﬁ%, AEMENS
services to the last mile, especially HETT o, fom 39 3 afes-19 g9
during COVID-19. Which of {he ST B 3% udee met mofear
following are the primary qutjes of q9¢ JJ T& | it fes foagntt nmr
ASHAs ? T Tty ot < 9
1. It counsels women on birth L f9 won & fanrst  medh,
preparedness, importance of safe HIfmiS F55 =r HJSE, I9Fe
delivery, breastfeeding  ang ST w3 Ao HT
complementar feeding, . =
immunizat; ! iy ST, 93 ITEH M3 Ny
zation, contraception and - . 5 Gy
Prevention of common infections. 5" B JoaEH mET % =
S A®'T fee g5 |
2. ASHA takes steps to cregte 9 ‘ e = w3 mrerh -
awareness and provide 3 s =
information to the community on TS ¥ 39w fae fa w gt .3 S
determinants of health such as gfonret FREsT, meE yaet &
nutrition, basic sanitation and 96T UT'S JJ6 BT FeH Joret
hygienic practices. ol
3. It works with the Village Health 3. feg iz & fmos =t ERIEE
and Sanitation Committee of the THeT  feafhs IIS BT ™
Gram Panchayat to develop a dofes & s frog Vi e
comprehensive village health e E,h; e
plan.
_ 4. M 82 Ja e en3, sy v
4. ASH!; provides p;'lma::y mec}lllcal 2 T st e S
care for minor ailments such as 3
diarrhea, fevers, and first aid for IS et 9 |
DUCoTIIE e fors o=t & =33 qufentt mt 69
Select the correct answer using the E% .
code given below : (@) =% 1,203 3
3
(a) Only1,2and (b) =B 2,33 4
4
(b) Only 2, 3 and © =% 1.3 m3 4
d4
d 1,2,3and4

Paper | (A-12)
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16. The Government of Ipng;, anNounceq

16. 393 Foww 3 saEElu oA 2
linking of Lakshadweep Islangq y; "

nudtas ofess aum fég adt oY
the mainiand through Optica) pippe

USst 5% J35 ®Et ws AsT Y |
Cable link.
forns fes* faaer s weft Do 2
Which of the following statements
is/are true ?
L et @ 11 wifet 4, mies
| f8sdt wmfew oferss aum
1. The submarine optical fibre cable
link will connect 11 islands of i 2 R e
Lakshadweep with Kochi in fed st
mainland India,
2. fog ywae WaRad  fedt
2. The project will be executed in few HETH A A, w3
PPP  mode through a joint MEINTELANS. ¥ Agas nwifsns
venture of BSNL and RIL.

It &g &tz AR |

canned wit amoscanner
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India’s first gas exchange, the Indian
17.

18.

Paper |

3. Imported Li

Gas Exchange (IGX), was launched. as

a wholly owned subsidiary of Indian

Energy Exchange. Which of the

following statements are correct 2

1. It is a digital trading platform
that will allow buyers and sellers
to trade both in the spot market
and in the forward market for
imported naturg] gas.

2. It will allow trade across three
hubs — Dahej ang Hazira in

Gujarat ang Kakinada in Andhra
Pradesh.

quified Natural Gas

€ regassified and sold
to buyers through the exchange,

removing the requirement for
uyers and sellerg to find each
other.

4. Only inter-governmental trade in

domestically produced natural

g8as is allowed at the
exchange.

Select the correc
code given below -
(@) Only 1and?2
(b) Only 1 and 3
() Only1,2ands3
(d 1,2 3and4

(LNG) will b

gas

t answer using the

Consider the following statements :

1.  Angola and Nigeria are one of the | 18.
largest crude oil suppliers of the
sub-Saharan region.

2. India and Angola signed 5
bilateral €nergy  cooperation
agreement under the framework
of India-Africa Forum.

Which among the above statements

is/are incorrect ?

(a) Only1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2
(A-14)

Wﬁw%§|

3. wmz 398 FEISt I
(WSS 5 ) S ¥ IR fg
S'Eﬁssaa?ﬂ‘éarrﬁf%a%‘s@

MRAIS= &y

It 9 | 3

4 ?m*??m%'-qfw % B3y
I = S e T T
gga—ﬂﬁava%euawnfrﬁw
|

() =B 1mI 9

(b) eH 1 w3 3

(c) =B 1,203 3

d) 1,2,3n3 4

1. vﬁﬁwn@ﬁ?ﬁa}w@u—w
W 2 M 3 W W I3p 2
YSBAESRT  (Rumfegw)  feg
meT I5 |

2. I93 NE MAB F 393 nieda
éaw%%"d%nru‘lﬁ%ﬁu%@w
HiTGar IS 3 IAsngg A3 |

83 aEs feu fousr aus Iz /g5 9

(a) ﬁ;

b

Ec)) 13 2 &

(d & 17332
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19. Recently Pan-India Reg] Time Market

(d 1,2and3

20. National Commodity and Derivatives 20.
Exchange (NCDEX) announced the
commencement of trading in the
country’s first agriculture futures
index called :
(a) AGRODEX
(b) AGRIDEX
(¢ FARMDEX
(d) CROPDEX

Paper | (Fe =y

in electricity was launcheq. Which of
the following statements are correct
about the market ?

1. Real time market is ap organized
market platform enabling buyers
and sellers to meet thejr energy

requirement closer to real time
operation.

9. The auctions will be held 50
times a day.

3. It became operational on two

platforms Indian

(IEX) and Power
Exchange India Limited (PXIL).

Energy
Exchange

Select the correct answer using the
code given below :

(a) Only 1 and 2
(b) Only 2 and 3

(¢) Only1and3

19. I8 J fomd feg et

ZTeH Wt At it ot

fed" faa3 =ws it et s
UIEF% 3§ udteeet w3
€ SASId Udhnrt 395 ©F FarfesT
I I |

IEST

9. fex fes feg 50 =9 fsmninr
Jfen™ Igaammit |

3. foo € ug3® 3 Hof®s dfenr -
EARES] SEEU WMIAYTH
(mré’r.é'rﬂaﬂ.) w3 a3t
ueg WIS H fofHes
(Ut ITHPTETAE.) | _

foHs a5t § =93fent dia 837 e :

(a) =B 1 M3 2

(b) =B 2 3 3

(¢c) =B 1M3 3

d 1,2 n3 3

SHGS SHiSST M3 3diefee MaHeH
(e At ET.Ener.) & 93 © ufds
g3ta=t wamt Aew few <u9 o
G

(a) WIGSIA (AGRODEX)

(b) MAdISaH (AGRIDEX)

(c) T9HESH (FARMDEX)

(d) FIUSEH (CROPDEX)
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21. Consider the following statements

o e r a
1. Ezulwini consensus calls fo

more democratic security counc:1
with a permanent seat to Egypt,
Turkey and South Africa.

2. During the recent India—-AU
Summit, Uniting for Consensus
grouping (UfC) strongly
supported India’s claim to a
permanent seat in the UNSC.

Choose the correct statement(s) :
(a) Only1
(b) Only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

22. India recently announced a second
phase of Cotton Technical Assistance
Programme for African countries.
Choose the correct statements among

the following :

1. The grouping of Mali, Benin,
Burkina Faso and Chad is
popularly ealled Cotton-4.

2. Cotton crop is best
commercially in Red
Lateritic soils in India.

grown
and

3. The Cotton Corporation of India
Ltd. releases MSP for Fair
Average Quality grade Kapas
before the start of procurement
season.

(a) Only1

(b) Only1and 3
(¢) Only 2 and 3
(d 1,2and3

Paper |

21. foHs SEst § fegrg

22.

(A-16)

L firg, z9st w3 Sudt wiedlar =t
RSt AeRusT © o feasfed
AlonSt =ity Fa=sfoasT =t
HIftmr Sfis & nierg féer §

2. TH & e 7 su3-2.3. You
(Summit) Tgrs, gorfeféar g9
SEHRR  aigfilr (@HheAt) 3
93 ¥ gaewE.AL feg melt
AYAWST € ¥mie § Ygad ANTES
fosr | :

H’Cﬁ'mg%:
(a) A=W 1
(b) T=B 2

() 1w32egx
d & 19339

893 & niedlar ¥ SFT Ot uT @
3Bl AITfesr Yo € THY 99 E
T NI oSt 3 | foms fed” At qE@s
gE : 4
1. W, dfss, gafss o/ w3 I
€ AHT § SIEIT T des 4
(Cotton-4) faar AT T |
2. I93 fow »® w3 Befalw
st o8 suw & =Fm
SU9S 39 3 §3H Qaret g I |
8. udle & mI3 I ufowt des
TUTHS e S foufes
<& NI WASS Snfest I3 o
ST & MM § At o

qer J |
(a) =S 1
(b) =T 13 3
(¢) d=® 203 3
d 1,233
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24.

Paper |

ne All India Trade Unign Congress

7 TUC), the first pan-India trade
e recently completed 10 years.
Who among the following contributed
to the formation of AITUC.

1. Lala Lajpat Rai

9. Bal Gangadhar Tilak

3. Joseph Baptista

4. N.M. Joshi

5. Diwan Chaman Lall

Choose the correct code :
(a) Onlyl,4and5

(b) Only1, 3 and 4

(¢0 Only1,3,4and5
d 15273 4'and'5

The International Maritime
Organisation (IMO) has recently
recognized Indian Regional Navigation
Satellite System (IRNSS) as a part
of World Wide Radio Navigation
System (WWRNS). Choose the correct
statement(s) among the following :

1. India has become the fourth
country in the world to have its
independent navigation satellite
system recognized by IMO.

2. IRNSS provides both Standard
Positioning Service (SPS) and
Restricted Service (RS).

3. IRNSS, like GLONASS and GPS
is a global navigation system.

(a) Only1

(b) Only 1 and 2
(¢) Only 2 and 3
(d) Only 1,2 and 3

24.

(A-17)

(a) =B 1,4 M3 5
(b) =B 1,3 M3 4
(c) =B 1,3,4n3 5
d 1,2,3,4nm35

(MEL oI MHMA.)  §  feRst
(Fufeg safek. rans nH.) & fOR

%"Fr'ﬂ%jmaﬁ?% | fors feg8 At

dqgS 9T . '

1. 93 fepe @ S5 ¥F ¥ g9 J
7 & »retoni§. oorar mRifgs
H33J 3<1dHs ysy Jyer 4 |
UmtAf&aT AeT (HULIH.) »is
fRefSaes Aer (Mg mA.) 2=t &
HIE™ J9eT J | X
o3 "t AH, T ferdt 3Sams
Ugy J |

(a) JA=H 1

(b) JA=H 1 M3 2

(c) JTH 23 3

(d) o=H 1,23 3
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26.

Paper |

(d)

S
25. The Bureau of Indian Standards ha

Prepared a draft standard for ni}al:i?
supply of piped drinking water, na =
as “Drinking Water Supply Qua ;_ Y
Management System-requirements (?,r
piped drinking water supply service”.
Which of the following statements are
the key features of the draft ?

1. After treatment the drink%ng
water should conform to Indian
Standard (IS) 10500.

2. Adoption of District Metering
Area concept to control leakages.
3. Water audit should be conducted
on quarterly basis.
Select the correct answer using the
code given below :
(a) Only1and?2
(b) Only 2 and 3
(¢) Only1and3
(d 1,2and3

Winter Diesel is a specialized fuel
that was introduced by Indian Oil
Corporation. Choose the incorrect
statement about Winter Diesel :

(a) It contains additives to maintain
lower viscosity so that it can be

used in temperatures as low as
- 30°C.

(b) It has lower cetane rating for
high performance of engines,

(¢ It has low Sulphur content to

ensure lesser deposition in
engines.

It is highly suitable for high
altitude and low-temperature
regions such ag Ladakh, where
ordinary  djege]
unusable,

can  become

(A-18)

25. 989 nre s meses 3 Ut =

26.

uﬁﬁmaﬁwﬁ%mm

T TS ud & ey mumE A

SE Wlr T oy F omumEt

H9FT f3nmg Stz § | fere feu ug3

@ﬁm%ﬁuz%a&aw?

L. Hilags Guds iz = ug
ISt YU (et A, 10500 2
megy grdter I |

(@) JATH 1 NI 9

(b) =% 2 NI 3

() =B 1w 3

d) 1,23 3
mmmmw@
famir féeg s fog

(b)

(c)

(d)
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27. Hydropower sector cooperation is the

28.

Paper |

flagship area of Indo-Bhutan bilateral

relations- Choose the correct

statement(s) among the following with
regard to India’s investment in the
hydropower sector in Bhutan :

1. The Mangdechhu hydroelectric
project 1s a run-of-river power
plant being built with Indian
assistance in central Bhutan.

9. The Kholongchu project is a first
Indo-Bhutan joint
hydroelectric  project to be
implemented by Kholongchu
Hydro Energy Limited.

3. The Chukha HEP, Kurichhu HEP
and Tala HEP are the
hydroelectric projects of Bilateral
Cooperation between India and
Bhutan.

Only 1

Only 1 and 2
Only 1 and 3
1,2 and 3

venture

(a)
(b)
(c)
(d)
Consider the following statements

regarding ‘One Nation, One Ration
Card’ scheme.

1. The scheme allows portability of
food security benefits for migrant
workers in other States.

9. Aadhar linkage of ration cards
of migrant workers is not

mandatory for availing benefits

in other States.
Which of the above statements is/are
correct ?
(a) Only1
(b). Only 2
(¢) Bothland2 .

27. UE fa@ Aoty s93-gers T & Ul

(d) Neither 1 nor 2

28.

o0 .

T MY B39 ¥ | 93 oaEr

g5 © Uz famet gzg fou fo=m a9
f&ﬂ%a‘aﬁﬂ?ﬁ'aﬁ:

1L

(a)
(b)
(c)
(d)

HIBE Uz famdht ymae, Tfanret

It 3 FfenT Qawr use I W

Jedl 3% feu 393 & HofesT

&% gEten w faar I |

UBsdg Yrde I93 M3 ITE

Uit Hgas nifens = Us
fomt Unde I A d%odE U
gomr fofies enmer &I =
e J |

Jor AP EAf., adiE e
w3 W ASA. IEs w3
gos € € Ut Afowdr ¥ UE
el Yyrride 96 |

A= 1

=B 1 M3 2

=B 1 3 3

1,23 3

Het fors TEaT & f*o9 |

1

feg ufstime TS I feg oM
JIT  UITHT  HAEd =5
At ®3 ¥ 39S

(ua%faf&ﬁ)é‘rmﬁwﬁw% |

J9 9 feg st § YUs 96
Eﬁuﬁﬁw%mm
o WTd 7% A8 FHHT &dt
J |

(>

Gz Fust feg fomar A /05 ?

(a) 3= 1
(b) =B 2
© 1M32T

(d w1032

(A-19)
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29. Consider the following statements :

1. A permanent bridge has bf';en
built on River Ravi for connecting
Kasowal enclave in Punjab along
the India-Pakistan border with
the rest of the country.

2. This 484-meter long bridge has
been built by Border Roads
Organisation (BRO) under the
Project Chetak.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(¢) Both 1 and 2
(d) Neither 1 nor 2

30. Consider the following statements
regarding  Styrene gas leakage
from LG Polymers Plant in
Vishakhapatnam, Andhra Pradesh :

1. Styrene gas that is used in the
production of polystyrene plastics
and resins is normally stored as
liquid in factories.

2. Short exposure to Styrene gas
results in irritation of mucous

membrane and eye,
gastrointestinal  effects  and
inhalation problems and long

term exposure to the gas causes
damage to central nervous
system and fatality as well.

Which of the statements given above
is/are correct ?

(a) Only1
(b) Only 2
(c) Both 1 and 2

(d) Neither 1 nor 2

R T L T S S I YO N P R S S L T Yo e ey

29. fors Est § feurg ¢

1. FEStufaRss HHT € 5T B
YA & aAes feesde 9, Tt
I T 5% s wHEr I Sl 3
fes AT U garfen famr 3 |

2. 9939 34 VTIAIETER TS
(Ffna.8.) T 93 Unae
nidts feg 484 Hiew I UB
gErfen famr I |

a3 feg faus aus At /5 ¢

(a) =B 1

(b) J=H 2

() 13 2=

(d) 3 103 a2

30.

fors Aedt fons ags fegra

RHYEEH, nitgr yer ® wsHh.
USHIe usie feg' Aedldts I @

1. HIENE I ° UdsHe =S
UysHfed »i3 JHls § gEi8s et
femRvs J& I oy 39 3

Tt I

2. FACEs dH ¥ 8399 Ao
ufan, U2 g YTkt ¥ yge, A
&' ATdT 39SH YEU T IeAS

3 7% Y39 feg o gt 3
8oz sEst feu faozr aus At J/0s
(a) JATH 1
(b) I=H 2
(¢ 13 2%

(d) 3103 a2

(A-20)

1

-
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JIGYASA Pprogramme of Council of | 31. fefamifss w3 Geofix »GRTS
ol SR el Tk ty
Scientt L ndustrial Research Udtae (Ht H nrst mitg.) =N
(CSIR) 1s a/an HIHTHT gy 3 |
(a) National Programme to provide (a) Ffenmt fefomrst feg fomomit
Mentorsuip _ and Seholarship Juz = fefenrador & uETeh
suppo?t to interested students for FH e ~ =t oot
pursuing study in Basic Sciences. : 5 ek
oo e AJTEST T ISt YdioH I |
(b) Student-Scientist connect e o
programme wherein students (b) GHEEISES 'ﬂul\ gi\:| e Ek ?_
across the country are exposed to ¥ Yg9H fAeg @@ 39 fed
science and technology. fefenrgehyt = fefamrs »3
() Innovative programme to attract IFAGBAT BH HATHE Fg<ren
young talent to the study of 7 J |
science at an early age and to (c) He® BHg feu J=g< da=st &
build the reqllnrfed critical hum.an fafams & wifonis BT WMIITHS
e o0 0 T, SIS 23
Technology system and R & D }‘[HU 013 )WET\ s &
base. Mg & HAASIHS M3 feAf33
(d) New programme aimed to foster g95 BT VAT HRHT H3T <
scientific research on the effects fegz  ®Et feg  a<te3EW
of yoga and meditation on 1:[31?1"'){ T
physical and mental health in d) TIr i3 fimrs = faosie s
healthy people as well as in W3 foon @® S9e T Ftg v
tients with disorders. Gl '
patients wi sorders e €3 o S
Consider the following statements : lj?f © gdl&d ChT R el B!
1. ‘Aj Aakhaan Waris Shah Nu DA
(Today I Invoke Waris Shah) is a | 32. foHe sEs § feum :
famous poem by the renowned 1 W vyt =f9R 7o & Jarst ot
Punjabi writer Amrita Pritam RIS e 1°[:ﬁ B: 7ﬁ_:(
about the horrors of the partition = iy o ; HE’T
; : 393 99 1947 € ¥ AN I
of the Punjab during the 5
Partition of India in 1947. fenmaasT 879 yfHa afesT 3 |
2. The poem is addressed to the 2. feg =fez |‘80|\33'f|5( UATEt =t
historic Punjabi poet ‘Waris TfoH F9’ § HEf3 9 fam )
Shah’ who is considered as st fefsors Afozar fags
‘Shakespeare of Punjab’ for his ‘de T3T Uy =
literary work ‘Heer Ranjha’. Ramina faar qer I |
Which of the above statements is/are 833 =5 fxag" 355 At S 3
correct ? @ 3 1
(@) Only1 2 Sl
(b) Only 2 (b) o g
(c) Both 1 and 2 (e 1 m2§
(d) Neither 1 nor 2 @ &7l OL2
Paper |

o)
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. nts' 33 Ié;]l(; - -(5 : a . _tﬁ'
33. Consider the following statements : X HEgg °F @ 8?3_7
for 1. feme 9 O
1. World Bank allocates votes' £ ﬂ')-l""j?—ﬁ (e HIR) feg
member countries on tht.a basis 0 = 3 St 3w
the share of bank’s capital stock ffgedt @ wgg
held by the member country. I
PRV 0 e 9 e b o e
0 o —
World Bank, <9 6% S fimfren 52 o
Choose the incorrect statement(s) : %3 &5 gT .
(a) Only1 (a) d=® 1
(b) Only 2 (b) O=H 2
(¢) Both 1and 2 () 1n3 2 e
(d) Neither 1 nor 2 d 3 1mMI 39
34. Which of the statements given below is .
correct ? 34. fous sust feg' fagsr 7t 3 2
(a) Thg Attorney Genera.l of India is (a) F93 T WIS HE5IE FHT o
entitled to all the privileges that AT & Bose =@t mrdtnr
are available to a Member of = 3
Parliament. ie<t Bt urzg '
(b) The Attorney General of India is (b) MTISt Feg®m HIF ffre =
a member of the Cabinet, AEAW der J |
(¢) The At:ocll'nsy t(ﬁeng;glfog In;iia isf © "9 HETS $ I93 @ e
?ggi(;_ne y the Chief Justice o ot o 3
(d) He must be g person who is @) fev Qg fomast 9= E-'?ﬁ?la H
qualified to be appointed ags JE J9C T T fogas d= @
Judge of a High Court, War g2 |
35. Consider the following statements 8 X
1. The Sixth Schedule has conferred | 35. f5H® TES (9] feus
the District Councils the power to L Ear MaHST  frawmr afrst &
constitute Village Councils or MEATSS W 5 e U} Wﬂ?’r
courts for the trial of cases 2 =ﬁ > 3 3
between persons belonging to Sip i 4l &l = e
Scheduled Tribes. IS MEHBIT T 58 95
2. The Sixth  Schedule has BE mfafes soet 3
Ig'c(;g.nitsedc the .lpow:;ar of the 2. &F YORS e Xfawt o I3
istric ouncils  to  impoge g forfos 95 o Fagt &
certain specified taxes, i 5 5 ﬂ' 3 il ¢
Which of the statements given ahove AR |
is/are correct ? 83 qust feut COEWR) I/T5 7
(a) Only1 (a) o=w® 1 |
(b) Only 2 (b) o= 2
(¢) Both1and2 € 1m3 2 g
(d) Neither 1 nor 2 d) 310339
Paper | (A-22)
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36 Consider the following statementg -

T

Matters concerning Trade
Unions, industrig] and labour

disputes fall within the purview
of Concurrent list.

The subject of welfare of labour
including

conditions of work,
provident fund, workmen’s
compensation and maternity

benefits are included in the State
list.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(¢) Both1and?2

(d) Neither 1 nor 2

37.
37. Consider the following statements :

1.  With respect to the ordinary Bills
passed by the State Legislature,
the Governor is vested with a
discretionary power either to
withhold his/her assent or return
the Bill for reconsideration by the
State Legislature.

2. If a Bill passed by the State
Legislature is derogatory to the
powers of the High Court, it is
compulsory for the Governor to
return the Bill._

- Which of the above statements is/are
correct ?

(a) Only 1

(b) Only 2

(¢) Both 1 and 2

(d) Neither 1 nor 2

Paper | (A-23)

36. f6Hs TEt § fegry

1%

TUT H3® ¥ H®, Betfaa w3
HUES" ¥ safsnf @ wu® mist
He' ¥ U9 feg m@2 g% |
HTES & 35, an ¥ g,
e @ o e
n@ﬂ%ﬁ%w%f?ﬁwgﬁ
feu Av® a5 |

83 fou’ fxoz <us wdt J/as ¢

(a) A<H 1

(b) ATH 2

() 1m3 2T

(d) & 173 & 2

forns aest § fegrg

1. Iv feusqat (Legislature)
THUS B nUst AfoNSt S5 3
ot feufsnrdt mast Hee 3

2. Ha9 97 feusagt (Legislature)

83 aEst o' ooz mt J/0s 9

(a)
(b)
(c)
(d)

ATH 1

AT 2
1073 g 5
T1IMIF 2
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38. As per the Scheduled Tribes and | 38 THAIST :jws nifgerat € Al )
Other Traditional Forest Dwellers : wisAa faH s fenier=t
(Recognition of Forest Rights) Act, e, 2906 ; qfaﬁ W3 HiHT
2006, who has the authority to initiate yfgerg @ niftrarat & oT ey
the process for determining the nature 3 fegufds a9 & yfe
and extent of individual or family q95 T nifgars I ?
rights ? e fegmdl
(a) State Tribal Department GY S
(b) Gram Sabha (b)  qH AST
(¢) Block Development Officer (c) & feam MeHI
(d) Gram Panchayat (@ dIH UTTEs
% et of Gnch following) i) mot 8 (L e Fono e L on R o
provision of the Representation of the . = 9
People Act, 1950 ? e, 1950 T TS -
(a) Qualifications and (a) AAT M3 IH t‘%_u'zg”g_ <
disqualifications for membership Yooy et wasE 3
of Parliament and State e GBS
Legisla-tures : (b) B AT, I feus HIT I ES
(b) Allocation of seats in the House of fSRT St Fret BT f590T9s
the People, the State Legislative g &
Assemblies and the State (c) HAE nf3 ST oS AT
Legislative Councils ISfait It Je gt 3
(¢) Delimitation of Parliamentary, (d) TIH ffus ufgge it I =
Assembly Constituencies 81 &t sy nifuardtars
(d) Local authorities for purposes of
elections to the State Legislative | 40. foH® Bug ¥z wrfontt dhnit fearetnt
Councils fed" yafie 339 = Qug (uafesdt
40. Which of the following categories of LCGE| ?’_%_C") o deaet fem 60-{?—13
borrowers are eligible for taking the <99 MUts fIa3 urzgsr JHT IS ?
benefit of Priority Sector Lending 1. 22w IHES famms
under the Weaker Sections Category ? 4
1. Small and Marginal Farmers A< -HJTTES digy
2. Self-Help Groups <8 TWY fonraes (fsedmnm 3=
35 Bf?;leﬁciarias) f({)i")Digerential Rate e ‘é’z%ﬁe) At = FS"B‘LFB’G'T.
of Interest scheme Yoo fags 3 o
4. Distressed farmers indebted to G 8urg o . B %—H’HH"&B
non-institutional lenders = SIS IIATET TS
5. Minority Communities as notified 5. b{ﬁ:@%—i e forzst AHETfe
Select the correct answer from the fors feamyt feg HJt 839 I -
choices below : : a =k
(a) Jq=B 103 9
(a) Only 1 and 2
(b) Only 1,2 and 3 (b) ITH 1,2 M3 3
(¢c) Only2, 3and5 () =B 2,3n35
(d 1,2,34and5 @ 1,2,3,4n3 5
Paper | (A-24)
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41.

42.

43.

Paper |

;

Which out of the followmg sets of

mdustrles is not a part of the eight
core industries in India ?

(a) Coal, crude oil and natura] gas
(b) Steel, cement and electricity

© Coal, natural gas and refinery
products

(d) Mining, metallurgical operations
and pharmaceuticals

Which out of the following has
been categorised as a Domestic
Systematically Important Bank

(D-SIB) as per the recent report the
RBI?

(a) ICICI Bank

(b) Punjab National Bank

(c) Axis Bank

(d) Kotak Mahindra Bank

Which among the following is incorrect
with respect to Payment Banks and
Small Finance Banks in India ?

(a) Payments Banks can accept
deposits but have to keep the
customer balance below one lakh
rupees, whereas there is no such
restriction on the Small Finance

Banks.

(b) Payments Banks cannot give
loans or issue credit cards
whereas Small Finance Banks
can.

(¢) Mobile Companies and

Supermarket Chains owned and
controlled by residents are
allowed to become eligible
promoters for Payments Banks
but this is not true for Small
Finance Banks.

(d) Payments Banks cannot sell
mutual funds, insurance and
pension funds but Small Finance
Banks can.

41.

42.

43.

(A-25)

fons Betiar feg fao3 g9z @ »is

a9 (core) Bewar = fifAr st g5 ?

(a) O, AGT 3IB M3 FEIST AR

(b) A, Aifiie w3 faast

(¢) TA®, FEast IF w3 Fefesdt
g3uw

(@ Hfefdar, ot ufgeret w3
geent gaE ¥ Qedlar

fors feg” fon & nra.dtnrst, & o

gt feg wreEt foude nieRw uwdy

YU HJIZTYIS ¥
&AL S, T8 =9difas 3T
J?

(a) et HLATEL Rt 89

(b) Udg 5HE®

(c) WIFY I

(d) dex Hided g

393 feo® niefodt S w3 wwy
3t ¥a 99 foHs fog ot a3 T 2

(a) weTfedt &a Ay ITHT & Hae I
ud 85" § grox = garfenr feq
B JUE 3 U U g9 7 X
meu &St Fat I nifrdt at
Ut &dt T |

(b) nieTfEdt 8 J9rT Bt T AT 7
dfc II3 adt € AT A N
By 3t §9 ¥ Ao 96 |

(c) fosmiint &off 7 @t wnrar
HaT Ot nefedt 8 & udieg
IS5 © GdT 96 U9 iy 55t g
®et feg At &t T |

(@) nrefedt 8% fH8e® &3f, whyr
»@ﬁmﬁa—ﬁ?jégm"rna%
ydz vy R 89 3w mem
T |

PO R s
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44. Consider the following pairings of

45.

(¢) To establish an electronic

(d) To build -capacity to enable

Paper |

Non-Performing Assets (NPA)

classification in India with their
descriptions :
1. Substandard assets : Assets

which have remained NPAs for a
period less than or equal to
12 months.

2. Doubtful assets : Assets
which have remained in the
substandard category for a period
of 12 months.

3. Loss assets : Assets which are
considered uncollectible and of
such little wvalue that their
continuance as a bankable asset
1s not warranted, although there
may be some salvage or recovery
value.

Which out of the above pairings are

correct ?

(a) Only 1 and 2

(b) Only 2 and 3

(¢) Only1and3

(d 1,2and3

Which among the following is the

objective of the Cheque Truncation

System (CTS) introduced by the RBI ?

(a) To reduce the flow of cheques in
circulation by replacing cheques
with digital financial
transactions.

(b) To discontinue the flow of
physical cheques in the clearing
process by transferring an
electronic image of the cheque
with essential MICR data.

45.

database that helps in the
suspension of the circulation of
those cheques that do not have
the correct vital details.

interbank payments online and
facilitate Corporate customer

payments.

(A-26)

Hegygs BHe @ x 2HC 12 HIts
B nizy g =941 feg 99 I |
we T oHe : 8J THS #
@ammaﬁ'aﬁm?ﬁ?ﬁvw?
3 T J5 f IIAGAT THS ®
39 3 a4 W 7 AAQ Fe (Eat
& g3 Ga9dt AH3 I AKE! I |

83 det feg' fagzr At I ?

(a)
(b)
(c)
(d)

=% 1 3 2
o= 2 M3 3
J=®% 1 3 3
1,2 m3 3

forns feg g dtorst, enrar fene

are

39 edoaHE wH (AR

geg ot T ¢

(a)

(b)

(c)

(d)

9 €t ' farles &t 39w &
o & It ¥ wHE & ge39
weTgET |

H99r fiag (MICR) 392 =& &t
© 89 ¢ mEsfos ava oE@mm
FI6 T Yfoor feg 3fsat 3 o
YT § JATT |

fea nifar fedserfos niggmme
HETUZ Sda7 g fist Jar fog

((fo; (|
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) Which out of the following is the

Jargest Detwork of shared ATMs in
India, Tun by the Nationa] Payments
Corporation of India ?

(a)
(b)
(c)

National Financia] System

National Financial Switch

National
System

Electronic Financial

(d) National Payment System

47. Credit Rating Agencies in India are

regulated by which of the following
entities ?

(a)
(b)
(c)

Ministry of Corporate Affairs
Ministry of Finance

Securities and Exchange Board of
India (SEBI)

(d)- Reserve Bank of India

48. Which of the following statements is

incorrect with respect to TReDS ?

(a) It stands for Trade Related
Discounting System.

(b)

It i1s an initiative of the Reserve
Bank of India.

Its aim is to help cash-starved
micro, small and medium
enterprises (MSMEs) promptly
encash receivables.

(c)

It is an online bill discounting
platform that enables discounting
of invoices/bills of exchanges of
MSME sellers against large
corporates, including Government
departments and PSEs through
an auction mechanism  at

competitive market rates.

46. fors 9" 393 &t guedt werfedt

417.

480

(A-27)

ATTUIHS BT gerfen gier 193 7
Ag 3 5T A M, T mimT 3o
faazm 3 2

(a) mﬁsprqéu

(b) JHI 23 mfew

(c) TS fedaeafoa f&t ydu
(d) IHeST nerfedlt yiu

(regulated) J& 9

(a) Ceufox HHS H3T™H

(b) <3 H3I®A

(c) AAEIET »Z NigHYIH ¥95 Me
f&str (SEBI)

d) 393t foga= o

Stfra 83T, (TReDS) © Fyu feg
fors aEst fog fagzr a3 T ¢

@ fem © 3= =yg foees
fsrar@féa ygu I |

feg 3793 € fomee ¥ @ Quaw
T

fer = foprar Urt wEt Agesie

(b)

(c)

(d)

@ fepa@féar  alondt It
Hafae Jet 3 JIe e J |

: y
Scanned with CamScanner!



49. Start-ups

registered with  the
Department of Industrial Policy and
Promotion of the Government of India
are exempted from the payment of the
“Angel Tax” with conditions. This tax
refers to

(a) Tax payable on capital raised by
new listed start-up companies via
issuuance of shares where the
share price is seen in excess of
fair market value of shares sold.

(b) The tax that start-ups were

supposed to pay if they receive a
loan at a discounted rate of

interest because of higher success
ratio.

(¢) Tax payable on capital raised by

unlisted companies via issuance
of shares where the share price is
seen in excess of fair market
value of shares sold.

(d)

The tax that start-ups were
supposed to pay when their
annual income would cross the
specified threshold as per their
fair market valuation.

50. ‘Usual Principal Status’, ‘Usual
Subsidiary  Status’ and  ‘Usual
Principal and Subsidiary Status’
approaches are wused in the
measurement of
(a) GDP
(b) Unemployment
(c) Inflation
(d) Services Sector Growth Rate

Paper |

(A-28)

50.

49. 393 A9 @ Qenar st M3 ysy

fSgrar =% ofimes TEmi o
AUBMTT (Ferge-nm) $ O3 HIs
J | fov 39 Iz FEer 9

(a) &=t forfes ST Enme
Aot A3 FAfdt &% Tl ot
IH 3 Uer 39 I T e @
otH3 29 98 Awg & AT EAg
3 7% TU TuE § fHeEl T |
7 d9 Aege-muf § 28 g3 §
Ae 89 2 IHur W 9w
AAS for™ ©9 3 997 Yz
FIe TG |

nEf@Afes udT EaT Jrat
3 Uer g9 J g a9 & dhig
<d dE Hn@ € At gAY oM
&8 IO T § fHwet 9 _
ACde YU EnfidT TWdl o9 A9
8a' € AEEr miiEs WSt T A
H&aE nigAg  feRm fagufss
AT 3 Bw 7t I |

n3 FIfASIT AR femeht fam ®

(b)

(e)

(d)

niiawe feg Tgnr Aienft g% |
(a) w.3Tad.

(b) ¥IwIaraT

(c) Hfdamet

(d) A= U39 T W & T9
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51 India has been constantly negotiating

e, CEPANSlonin" the/ trade in
gervices Via Mode 4 ag defined under
the General Agreement on Trade in
Services (GATS). Consider the
following Ppairings regarding different
modes of Services under GATS of the
WTO :

1. Mode 1 : Cross-Border Supply of
Services

2. Mode 2 : Temporary cross-border
movement of a natural person to
consume services abroad

3. Mode 3 : Cross-border provision
of services via the commercial

presence of a company in another
country

4. Mode 4 : Temporary cross-border
movement of service providers

Which of the above are correctly
paired ?

(a) Only 1 and 4
(b) Only 2 and 3
(¢) Only1, 3and4
(d) All of the above

52. Which among the following are sources

of non-tax revenue receipts for the
Union Government ?

1.  Disinvestment Receipts
2. Spectrum Fees

3. Dividends from ' Public Sector
Undertakings

4. Interest Received on Loans given
by the Government

Choose the correct answer from the

51. 393 U3 4 Tt Fer @ =urg (233 %%

52.

AIfeRd) fm & @MedARE ot
ufgsTis a3 famr 3. 2 fonzg mot

2 ﬂsz:v

3. W3 3:fom J9 °F feu st &
9K Agedt It ARt an
989 U9 Y=US

4 W3 4 : A< y=s 93t o

939 UTd MAEET JI=THI®3T
8a3 feu' fgozr e At 3 9
(a) d=® 1 M3 4
(b) =B 2 N3 3
() dA=® 1,3 3 4
(d) €a3 A9

fors fog aedt Aea9 st 39 =9

YTHES YUt IHET @ 73 fao3 9 9

1. fefoem yust grtet

2.  HUSSIH SH

3. HIAS nfanit (PSUs) 3y
IESIEFS

4. AT g9 3 Few 3 yus
fenm |

choices given below :
(a) o= 3N 4
(@) Only 3 and 4
(b) Only 3 (b) o=H 3
() Only 2, 3 and 4 (©) a=H 2,33 4
(d) All of the above (d) 83 A
Paper | (A-29)
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53.

Paper |

Consider the following statements with
respect to Consumer Price Index and

Wholesale Price Index in India :

1. The WPI is calculated for only
goods and CPI is calculated for

both goods and services.

2. The WPI is published by the
Office of the Economic Advisor in
the Ministry of Commerce and
Industry while the CPI is
published by the Central
Statistical Office.

3.  The WPI is published on a weekly
basis for primary articles and fuel
and power and is published

monthly for the rest of the items,

whereas the CPI is released on a

monthly basis.

4. The WPI measures inflation in
the initial stages of the supply
chain whereas the CPI measures
inflation in the later stages of the
supply chain.

Which the

statements are correct ?

among above

given

(a) Only1,2and3

(b) Only1, 3 and 4
(c) Only1l,2and4

(d) All of the above

(A-30)

Scanned with CamScanne

V.
r



54.

55.

Paper |

COmmiSSiOn for Agriculture Costs

and Prices (CACP) submits its e

recommendation  for  MSPs  of

jcultural commodities in form of

Price Policy Reports.

Consider the following statements :

1. CACP is a statutory body formed
under Agriculture Price
Commission Act, 1962.

9. Currently MSP is devoid of any
legal backing except for
Sugarcane to some extent.

3. Before submitting Price Policy
Report for any crop, CACP also
analyses demand and supply and
the implications of MSP on
consumers of that product along
with the costs of production.

Which among the following statements

is/are incorrect ?

(a) Onlyl

(b) Only 1and3

(¢) Onlyl,2and3

(d) None of the above

Some suggest that India needs to

move to an escrow-based payment

mechanism to ensure a fearless | 55.

business environment in the country.

Which of the following correctly

describes an escrow account ?

(a) A third-party bank account for
safeguarding the buyer from the
risk of seller defaulting on the
quality of goods and services.

(b) A bank account used by
individuals/firms for routing the
funds through tax havens for the
purpose of tax evasion.

(¢) A third-party bank account for
safeguarding the seller from the
risk of the buyer defaulting on
the payment to the seller after
having received the goods and/or
services.

(d) None of the above

(A-31)

CE{R:L=1)

HIgT w3 otH3  XHAS

(T®Ed e M3 UITTeiAd
FfEs) e AT aSteEt = EIn
FE M MH . &t frefon Uz BT

s

MERA, eSS
IfHAs Wae, 1962 3foz f&x
IEar AFET T |

fer A M. I3 JT 3
s & 25 X fam yas T Iadt
FHIES 3 293 T | 5
fai & eA% o oz JISt fouse
Myt see8E 3 ufest, HL.EHAT.
gzue & BAET T ITH B
gzue & ot »3 AUTEN n3
SIS 3 WIHARAL. € ygT=t &

ferdHe < 9T J |
fxI3T qEG IB3 I/IG 1
(a) o=<® 1
(b) d=% 133
(¢) =% 1,23 3
@ 83 feg ot &t &dt
sz 3 mofenr O fa @7 feu f6s9
g W% g¥8s ®E ERAS

(b)

(c)

feneSe=/eont eodT I9 3
UR %t I3 A8 THT U137 |
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56. The Mineral Laws (Amendment) Bill,

57.

Paper |

2020 has recently been passed.

Consider the following regarding the
same :

1. With the introduction of this Bill,
companies which do not have any
prior coal mining experience in
India can algg participate in the
auction of coal blocks.

24

Private companies will now be
able to undertake cogl mining for
commercial  mining purposes,
thereby ending the captive
end-use criteria.

3. A composite license namely

Prospecting Licence-Cum

-Mining
Lease has been introduced in the
Bill.

4. The revenue sharing model
detailed in the Bil] is based on
recommendations of an expert

committee headed by
Srinivas.

Which of the above are true ?
(a) Only 2 and 3

(b) Only 1 and 3

() Only1,2and3

(d) Only 2,3 and 4

Injeti

Consider the following pairings of the
names of Government initiated portals

and the area/industry with which they
are associated :

1. Sambandh : MSME
2. Prakash Portal : Coal Industry

3. Government e-Marketplace : For

procurement of goods by the
Government

4. E-Nam portal : Agriculture

Which out of the above are correctly
paired ?

(a) Only 3 and 4

(b) Only 2, 3 and 4
(¢) Only1, 3and4
(d) All of the above

it firerart 3 wigrfes 3 |
B3 feu' forazr At Tw 2
(a) J=HB 2 M3 3
(b) o=H 13 3
(c) A=H 1,23 3
(d) o=®2,3n34

57. HIAT 9T M99 J¥ U9s®T @ iz

(a) OB 3 M3 4
(b) =B 2,3 M3 4
(c) A=B1,3 M3 4
@) €3 A

(A-32)
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58. Consider the following statements with

respect to the EXpOI‘t Preparedness
Index, 2020 :

1.

It was published by the NITI
Aayog in partnership with the

Institute of Competitiveness.

It examines the export ecosystem
of Indian States and Union

Territories.

Policy, Business Ecosystem,
Export Ecosystem and Export
Performance are the four pillars
of the

Index.

Export Preparedness

Gujarat  emerged as the
in the
‘Coastal States’ category, followed

by Kerala and Tamil Nadu.

top performing State

In the category of ‘Landlocked
States’, Madhya Pradesh is the
best performing State. Among
‘Himalayan States’ and ‘City-
States’, Himachal Pradesh and
Delhi are the top performing

States respectively.

Which of the above statements are

58. foous fammdt  muw

(MIAUIS

Lﬁ%ﬁmﬁ%ﬁfé‘%amjzozoﬁéﬁrm
FEst § feurg :

1

fer & &It witiar 3 ySteesT &
RHAET (Institute of
o IEEE

&® USTHS 13T A |

Competitiveness)

feg 393 I W3 Ied HITHS
yerT ¥ feours fedfAHeH =
fadtys ageT J |

B, Tug feafAAeH, fsaurs
feafAreH »3 fogus yTans,
fsgars € f3nrst € o € 99
A38 I |

~ n A N [a) la)
diHd'3 3c<d3l {cdldl [<d
‘B3fqre 97" =7 €sfonr I, €R
T g a9s »3 IfhHEes J |

‘gHleIZ IHT € T9a few wu
Yy 831 yTIrs I YRH J |
foH-a" 3 ‘mfgdt-amt feg
foes yem »3 58 guea
834 YyTIHs T8 IH I& |

B3 feg fags AT T ¢

true ?

(a) Only1,2and3
(b) Only 2, 4 and 5
() Only2, 3 and 4

(d) Only1,4and5

Paper |

(A-33)

(a) =B 1,23 3
(b) A=H 2,4 M3 5
() ASH 2,3 13 4

d d=TH1,4M35
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59.

60.

the World Bank’s

classification of economies into income

According to

groups (on the basis of GNI per capita
using the Atlas method exchange
rates) for the 2020 — 2021 fiscal year,
India falls in which of the four incomes
groups described below ?

(a) Low Income Country
(b) Lower-Middle Income Country
(¢) Upper-Middle Income Country

(d) High Income Country

2020 — 2021 fest A'®

TIRT® gTg NITHES <94l fed

feg wrBer T ?

uE NWTHES @7 (Low Income

Country)

(b) ufe-fegard MMHES o
(Lower-Middle Income Cou

c) Bo-fegad nHES <H
(Upper-Middle Income Country)

(a)

ntry)

Consider the following products : (d) =g wes ©F (High Income
PRI i Countzy)
60. fors G3uet & fewd .

2. Katarni Rice " =

1. SIS
3.  Sirsi Supari

2. JIIoI TS
4. Chanderi

3. frAgrt murst
As of now, Punjab has the 2
Geographical Indicator (GI) tag for 4 3
which of the above products ? 7= 853 € L ao g s
@R onl gAfER Ho=d (Fhnmet.) 297 syer I 9
(b) Only1and?2 (@) o< 1

(b) d=H 1 NI 9
(c) Onlyl,2and4

(c) o=® 1,23 4
(d) Only1 and 3

d) =B 133

(A-34)
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dhagiieed by 6L TSSO fog 3pe % fe@g 3
1. Cadmium AR = 95 I
1l
9. Arsenic a3y
2.
3. Asbestos MTIAfex
3. Xpmpspur=
4. Lead MHYACH
4. 3
Select the correct answer using the
code given below : o S ?3 I S z
(a) Only 2 L
(b) Only 1 and 4 50 Smer s o

(¢) Only2and 3

(d) Only3 (d) JATH 3

62. Three-way catalytic converter is used | 62. qgr'% ot fes 62T TUS ey fam
in vehicles to reduce 3 w8z Bet =93 g Js |

1. Unburnt Hydrocarbon 1.  "EHS Tfessaass

2. Carbon Monoxide
3.  Nitric Oxide

4. Sulphur dioxide

4. A% Sfovianss
Select the correct answer using the Poves St §n =g3fmit meft o =
code given below : :
(a) O=H 1,2 n3 3
(2) Only 1,2, and 3
(b) A=® 1,3 W3 4
(b) Only 1, 3 and 4
() o= 2,33 4
() Only2,3and4
(d) =% 334
(d) Only 3 and 4
Paper | (A-35)
.
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63. Statements

i

I o= [e) fez
scannj about Terrestrial laser | 63 EQICIERCTER TR
nning are given below : aTé‘ Jdo <
It i 55 & 390 I H
IS a mMeasurement technique 1 feg fead HUES 33
that can acquire millimeter-level WTHUH € 839 © Wmﬁ
of detail from the surrounding IEEECRIERES] d lﬂ
area, 5 << e
9 FE HIZLYTO
It ?.HOWS rapid, automatic and & =T 7 S
Perlodlcal estimates of many WW_; : Wﬁ J |
‘mportant  forest  inventory % Leas ; )
attributes. 3. feg wimum o Ul -
It measures the surrounding Heet J |
three-dimensional (3D) space. 4. fug @"ﬁ]ﬁ 3 »ma Eee ¢

Which of the above given statements
are true ?

(a)
(b)
(c)
(d)

64. Read the following and choose the
correct statement(s) :

"

Choose the correct option :

(a)
(b)
(c)
(d)

Paper |

It is a satellite-based technique

that ensures precise standard
surveys.

1,2 and 3
1, 3 and 4
2,3 and 4
1, 2 and 4

The Pacific nation of Palau
became the first country to ban
“Coral reef-toxic” sunscreens.

Chemicals like oxybenzone and
octinoxate that are present in
most of the sunscreens, absorb
UV light and are thus harmful to
the Corals.

Only 1

Only 2

Both 1 and 2
Neither 1 nor 2

(A-36)

7 8fg3 Aesds AIMMT Gl
g8 J |

8oz feu* fagz w@s AT J 7

(a)
(b)
(c)
(d)

1,2 n3 3
1,3n3 4
2,3 M3 4
1,23 4

64. foHE 3§ UZ N3 AT TEs TE :

1 UAtfex IHes ww® ufow oF
et fam & ‘G fe =t
gﬁ%”ﬂmﬁﬁ%%awﬁ

|

2.  gg3ft AGAII ST feg
LS
99 IAfEE HEw 99 Os & gt
fagst & v T9a Jum wst
IBAI I=€ T§ |

At feasy ge

(a) o=H 1

(b) =B 2

) 1m32e

(d) BT 1MIE2

4
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o5 Read the following and choose the

66.

67.

Paper |

correct statement(s) :
Statement I :

The Himachal Pradesh State
Government is to develop India’s
first Snow Leopard Conservation
Centre of India. The Centre is to be
developed by the Himachal
Pradesh Forest Department and
the United Nations Development

Programme (UNDP).
Statement 11 :
Global Snow  Leopard and

Ecosystem Protection Programme
(GSLEP) is an inter-governmental
alliance of all 12 snow leopard
range countries.

Choose the correct option :

(a) Both statements I and II are

correct
(b) Statement I is correct
(c)

(d)

The symbol of Indian ecomark is
(a) Earthen pitcher

(b) Straw basket

(¢) Earthen lamp

(d) Bamboo pot

Which among the following statements

is/are correct about the Palas?

1. The Palas were ardent followers
of Jainism.

2. The Palas founded the
Oddantapuri  University from
where the missionaries went to
Tibet to spread Jainism.

Select the correct answer using the

code given below :

(a) Onmly1l

(b) Only 2

(¢) Both 1 and 2

(d) Neither 1 nor 2

Statement II is correct
None of the above

(A-37

65. fors & uF w3 dtx oEs 9=

66.

67.

)

Ayl Sign

JG5 ] :
foes Wy Fogg 98 T
ufdsr  m8  fsBuss  (Snow
Leopard) saa<eHAs ACd feafhs
94t | feg ared fores yern ©
T fea w3 gefees 36
fsemuie  Yag (@.a.3tadh)
eI fRIA3 3T F7r=ar |

ag95 11 :
IBES He foQuds w3 fea
fAAeH YA U™
(FAMS.Sdt) 79 12 He
f®BuUdz (Snow Leopard) I7 TH
€ ni3I-AIadt A T |

AT feamy g2

(a) o8& Inf3 Il €< AJT I8

(b) E5 I At I

(¢) &5 II At I

@ B3 feg a=t <t &dt

gTast feanda T Y3t 9 ¢

(a) fHet = w3 (Earthen pitcher)

(b) EH dt 239t (Straw basket)

(¢c) St T &= (Earthen lamp)

(d) ¥H € IHS (Bamboo pot)

fors feg' um Ifamt 99 03 IEs

At 3/T5 ©

1. U® T 76 H3 € AY3 »auer
HS |

2. y® Tt & SISt
ferefeforran & J97  SiSt
fAe fHAsdt A5 HS € % st
393 3 ae |

fors a3t & =gsfent Adt €39 w7

(a) dA=H 1

(b) o=H 2
() 1m=z 2 g
(d 3 1033 2

e
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68. Which among the following
statements(s) is/are true about the
Mughal rule under Akbar ?

1. Akbar opened the Ibadat Khana
to people of all religions; Sufis,
Shias, Christians, Jains and
atheists.

2. Akbar issued the Mahzar-nama
to take all religious matters in his
own hands.

Select the correct answer using the

code given beloy -

(@) Only 1

(b) Only 2

() Both1and2

(d) Neither 1 nor 2

69. In the Indian Freedom Struggle, who
among the following revolutionaries
carried out their activities from
abroad ?

1. Raja Mahendra Pratap

2.  Maulana Barkatullah

3. Lala Hardayal

Select the correct answer using the

code given below :

(a) Only1and?2

(b) Only 2 and 3

(¢) Only3

(d 1,2and3

70. Which of the following initiatives
was/were taken by Sher Shah Suri to
promote trade and commerce ?

1. Introduction of gold, silver and
copper coins of uniform standard.

2. Restoration of the Grand Trunk
Road.

3. Simplified the custom  duty
structure.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(¢) Only1 and 2
(d) 1,2and3
Paper |

69.

70.

(A-38)

3. & Idfen s
(a) ATH 1 NI 2
(b) =B 2 n3 3
(c) =S 3

(d 1,2wm3 3
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Pnlebo Sty Peint Comm
ngam t S, R
= S; fcial ex;s ~UBBest several stages | gy

0 ‘S €volution of Tami] people. In

this context congider the following

statements :

1. The narrative texts show that
Tamil People of the times were
primarily pastoral.

2. No reference to trade and
economic activities has been
made in these texts.

Which of the statements given above

is/are not correct ?

(a) Only1

(b) Only 2

(c) Both1and2

(d) Neither 1 nor 2

72. Which of the following was/were found | 72
in Mohenjodaro ?

1. Bronze Image of a dancing girl

2. Steatite image of a bearded man

3. Terracotta figurine of Mother
Goddess

Select the correct answer using the

code given below :

(@) Only1

(b) Only 2
(¢) Only1and3
(d) 1,2and3
Paper | Saa

a3 feo' faoz™ qEs At &t /T8 2
(a) o= 1

(b) d=H 2

() 1n32e

(d & 1933 2

HIAE9 feu foHs feg" o afsnr At ¢
1. &3 9t It & ik®
(Bronze)Eﬁ');iEB’

2. T3 TH wedt & Filefee
(Steatite) HI3

3. 2JSeT (Terracotta) o M o<t ot
Hd3

fore 5t § Tazfent At 639 95
(a) o=B 1

(b) d=H 2

() T=TB1n3 3

(d) 1,2 ™3 3
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73. With reference to the medieval history

of India, the terms ‘Dahsala’, ‘Batar’
and ‘Nasaq’ are related to

(@) branding of horses with imperial
marks by Samudragupta

(b) rituals

coronation of a new Gupta king

conducted during

() land revenue systems during
Tughlaq dynasty

(d) land revenue systems during
Akbar’s reign

74. Consider the following statements

regarding the administration under

Chola Empire : 4.

1. The Ur and Sabha were village
assemblies mentioned under
Chola inscriptions.

2. The village affairs were managed
by executive committees which
were open for all.

3. The Dravida style Brihadisvara
Temple at Tanjore was built by
Rajendra I.

Which of the statements given above

is/are correct ?

(a) Only1

(b) Only1and3

(c) Only2

(d) Only1l,2and3

Paper | (A-40)

Aefuz 98

(a) meé@
Frdt fsmt ot BARTED

b = quer g 2 I 358 AH
IIH A3

(0 Tawa d5 & AN 96 THio €
BAs T YEy

d) WIFT T HY S gHIG © &S

@a‘o’ﬁé‘ﬁwmﬂﬁr%m?
(a) o=H 1

(b) O=B1m3 3

(©) oFS 2

d O=F 1,203 3
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75. Which of the following statements

is/are not  correct about  the

Vijayanagara kingdom ? AT &3t /TS 2 s
1. The  Vijayanagara  kings 1. fedoaw € Ifiei & TSH
maintained complete separation YHHS ofgfimis ydo m-sfae‘dﬁ
between ~ religion and £ g9aa7g Jhmi |
administration. =
MTHES iy B3 9Hls & &6
2. Land revenue was the main 2 SHUERUE G
source of income. i
3. Administration of the villages 3. fiz = UHTHS feamH3t nignAd’
was carried  out  through ST IHTENT FET = |
hereditary officers. o . N
fors a3t & =a3fent At €39 T=
Select the correct answer using the =
code given below : (a) o=H 13 2
(a) Only1and2 (b) JATH 1
LOnye © 3=®2mI 3
(¢) Only2and3
@ 1,233
(d 1,2and3

76. With reference to the | 76. Gefadt-¥srfoet ge=t o9 fors aust

Udaigiri-Khandagiri caves, which of fo fagz ARt /g5 2
the following statements is/are ) :
correct ? 1. f&g dE9 e ger udusr
1. They are examples of the rock-cut _ ST Eli-;' 95 |
cave tradition. 2. feg gEret yge®m Ihmi o
2. These caves have inscriptions of yerEit gt Geragst I |
Kharavela kings. ! 3 4
Y 3. feg ge=t ym F9a It H3t @
3. The caves were primarily meant e
for Buddhist monks. HS |
Select the correct answer using the fors o=t § =asfont Adt 89 T2
code given below : (a) A=H 2
20 Only2 (b) 3w 13 3
(b) Only 1 and 3 '
(c) d=H 113 2
(¢) Only1and2
Paper | (A-41)
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77. What important influence did John

Locke, Baron de Montesquieu,
Jean-J acques Rousseau and Voltaire
have on the United States ?

(@) They were Europeans who came
to help the Americans fight the
British in the Revolution.

(b)  They were European political
thinkers who influenced the ideas
of American leaders at the time
of the Revolution.

(¢) They were Europeans whose
inventions sparked the American

Industrial  Revolution around
1800.

(d) They were European
philosophers who met with
Thomas Jefferson to draft the
Declaration of Independence.

78. From July 17 to August 2, 1945,

leaders from the Allied nations met at
the Potsdam Conference to decide the
sanctions to be put in place against the
recently defeated Nazi Germany.
During the conference, the decision
was made that certain industries in
Germany would be

(a) brought back to their pre-World
War I levels.

(b) governed by the forces occupying
the country.

(c) disabled in order to destroy
potential for war.

(d) revitalized because the war had
damaged them.

(FAR=YA9R)

(b) feg €7 gaut FwGHE 95X HO
(c) %U@U;mﬁmwww

(d)%EU@UWWm

78. HigWET SHed ¥ 33T 17 TEEL I

2 MAA3 1945 3IX UCHSH TBSIH

fes 0% 99 it Fevet 3 Sat wargE

< eHS Hadt @ | SeedH Sue g3

& famr |

@ ¥ fonfes Quvar yge-fome
TU 12 U9 3 fanie mregy |

(b) ﬁs%ﬁf“ﬂzgeﬁm@%@gﬁg
Hrear |

© 99 Aseer vy o et

AT |

@ o J

2 |
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79.

80.

81.

Match the fOHOWing :
List I

(Personalities)
Jai Singh L

List IT
(Misls)
Nishanwalia

Hira Singh II. Kanhaya

Dasaundha Singh III. Nakkai

S Rt

Naud Singh IV. Sukerchakia

A B C D
(@ II IIT I vV
(b) I II IIT vV
© IV 111 1T I
(d II I \Y 1T

Maharaja Ranjit Singh gave grants to

the following religious places :

(a) Harmandir Sahib, Amritsar

(b) Sachkhand Huzoor Sahib,
Nanded

(¢) Vishvanath Temple, Benaras

(d) All of the above

Consider the following statements and
choose the correct one(s).

1. As per 2011 census, the percentage
of agricultural labourers constitute
more than 30% of total workers in
the State of Punjab.

2. In 2019, Punjab had nearly
25 lakh hectares under Basmati
which is less water consuming than
other varieties of paddy.

Select the correct answer using the
code given below :

(a) Only1

(b) Only 2

(¢) Both 1 and 2
(d) Neither 1 nor 2

79.

80.

81.

fors 3 g -
Fol 1 go1 11
(HYHHPHIT) (&)
A 7 fiRw . fogaesmr
B. diar fRw II. I&sJemT
C. TrT fRW 1L, =T
D. &u fRw IV. HIS9an(T
A B C D
(a) 1II 11T I v
(b) 1 11 I1T 1Y
(c) IV 11T 1T I

(d) II I v 11

HIOH' dedis fARw 3 foHs oofia
(a) dforifes Arfow, »ifiyzAg

(b) FO¥s Jgg Add, s

(c) femeaw ¥ifeg, gogm

d €a3 79

ﬁﬂma‘aar?sfe?—u'm%ﬂtﬁaes-

1.2011 & HIeHgHt  wiEAT,
aﬁaﬁwe“rw%aﬁaﬂw

f‘e?30%3%trq3ﬁ1q3ya|

Paper |

..

(A-43)
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82. Match the following pairs : 82.
State Dams and
Reservoirs
1. Madhya — Sriram Sagar
Pradesh Reservoir
2. Andhra — Bargi Dam
Pradesh
8. Tamil Nady __ Sholayar
Reservoir
Which of the pairs given above are
correctly matched ?
(8) Only 1
(b) Only2
() Only3
(d. 1,2and3
83. Consider the following statements S8
about Thal Ghat -
1. Itis also called Kasara Ghat.
2. Itislocated in Maikal Hills.
3. Bhusawal-Kalyan railway line
traverses through it.
Which of the statements given above
are correct ?
(a) Only 1 and 2
(b) Only 2 and 3
(c) Only1and3
(d 1,2and3
84. Which among the following is a | 84
Glaciatic Wetland ?
(a) Nilnag in Kashmir
(b) Chandertal in Himachal Pradesh
(¢) Rudrasagar in Tripura
(d) Loktak in Manipur
Bapar] (A-44 ')

fans Het & feud :
~ = 57-[»{?
TH frgae T
Aad
L _ A
HU yeH i
2. nffugr Yo r _ gt 31
3. 3ITH®e® _ Hfen(s
; fagaend
83 Yot fug fxozr mdt HEE I 7
(a) JA=H 1
(b) JA=H 2
(c) IA=H® 3
d 1,2n33
"% wie 719 forns smet § fead

1. fem § a9 we & faar A
J |

2. f&g Has yost feg A T |

3. FARH-IGE I HfEs fEH
€ feget dudt I |

8us ifas FEs fes* fxomr mt I 2

(a) o=H 193 2

(b) o=® 2N 3

(c) A=H 13 3

d 1,233

fost o5 faozr ISHTex 2T
(Glaciatic Wetland) o 9

(a) TS feg Stwamr
(b) foHes yew fog Joogm

© f3yT feu gorm
d) HoT feu Fazx
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g5. Choose the correct statement(s) :
Statement I :

Wild Water b
found in N
Central Indjg

uffalo is mag;
jorly
orth-Fastern apq

Statement IT :

The Indian landscape is home tg

more than 859 of the Wild water
buffalo population_

Choose the correct option :
(a) Onlyl

(b) OnlyII

(¢) Both I and II

(d) Neither I nor II

86. Choose the correct statement(s) :

Statement I : 86.

Corals are an endangered marine
species and protected wunder

Schedule I of Wildlife Protection
Act, 1972.

Statement 11 :

Rhizangiidae, = Caryophylliidae
and Dendrophylliidae are the
names of Coral families, recently
in news as the Maharashtra
government gave permission to
translocate some coral colonies in
order to build a coastal road to
ease traffic congestion.

Choose the cdrrect option:
(a) OnlyI

(b) OnlyII

(¢) BothIandII ,

(@ Neither Inor I -

Paper | (A-45)

D S

85. m”raaaég&;

G5 :

TfEws Tew w28 (it & Ho
¥e®) fperss Gaguedt wa
dedt 393 feg it I
adga 11 :
393t 3l HAS & 85% I =g
TfE®s TeT geB (UF T Hawt
geB) o "AeRftmr T g I |
At feawu gz
(a) o=® I
(b) S=HII
¢ In3IIex
(d &I In3 11

—-

3Ieedst FId © "'
FAS § RSt B 3 TG ot fo
(a) =B 1
(b) "SI
(c) Im3 <. . .
@ FImM3am
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87.

88.

Paper |

ST TPa

The COVID-19 pandemic has exposed | 87.
the vulnerability and plight of sex
Workers across the world.

Which among the following statements

are true about the recent advisory

related to sex workers issued by

NHRC (National Human Rights

Commission) ?

Statement [ -

NHRC advised to change the
current statutory status of sex
workers from ‘informal workers’
to ‘Women at work’.

Statement IT -

The advisory says that such
workers may be provided benefits
on humanitarian grounds that
are entitled to informal workers.

Choose the correct option :

(a) OnlyI

(b) Only II

(¢) BothIandII

d) Neither I II

(d) Neither I nor oy

Choose the incorrect statements :

1. The Mediterranean lands account
for more than half of the world’s
exports of citrus fruits.

2. The Olive tree, native to the
Mediterranean region is a very
soil sensitive tree and thrives
only in well drained earth.

3. France leads the world trade in
fresh grapes with more than 90%
share.

4. Cork Oaks are typical species of
Mediterranean Evergreen forests.

Choose from the code given below :

(a) Only 2

(b) Only 1 and 2

(¢c) Only2and3

(d 1,2,3and4

(A-146)

m\”"e' wifted Sy
AL, g RAH S
mﬁmﬁﬁm&?
fxaz @G At I6 ¢

G351 :

(b)
(c)
(d)

I3 11 g
R ERUN I

%3 JHG' § TE

1. Hstedemis mitst fream @)
3% ¥ HAW9 few Jur wim 3 &g
foaum3 9% T |

2. Gfee Tous, MSteIdhiis 339 =
3»@3@8@%‘#%@
AISTASE Jer 3§ |

3. 3 nigdt ¥ feme Tu9 few 90%
Haot T |

4 A € NSteIdmis Femag
<& <t <figHe yarst ¥ |

(a) o= 2

(b) I=H 1 M3 2

(c) d=H 2 M3 3

(d)

1,2, 3 n3 4
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g9, Choose the correct Statements -

E a 89. It Fust § gE -
1. € gentle s]o . s 4
B Pe of continentg] L 58 a€s®s ¥ oz ¥ o
of Grand Banks of g g &
Newfoundland 1S one of the L i_IESE_ GHE.élu E'&E"E
reasons for it to emerge among feme = H‘s’ ?‘ I3 HEr
the largest fishing groungs of the I T fewfamtt fogr SECIiCY
world. fex 98 T |
2. Both pelagic and demersq] fish 5 - ?{% grhm M= e
are caught commercially here 393 R SR FR Y ‘
3. Cod is the chief fish caught in the % B(U_a’ Vs Haw few ot 7= =
Grand Banks. HY HeEt T |
4 St. John’s, Halifax and Yarmouth, . 168 Qs®s S e Foewm

are chief ports of Newfoundlang
from where the fish is exported.

Choose the correct option : foqurs ger T |
() Omlyl . At feamu w3 -
®) Only 1 ands | | (a) E 1 &
© Only 12 ands (b) 1033

~ (c) =B 1,23 3
@ 1,2,3and4 |

90. Choose the incorrect statement :

90. B3I TES § TS

1. Sea of Galilee is an example of 1. i ne am =
lava blocked lake in the Jordan BT §¥A3 (Lava Bloc
ey | T eos Y|

2. The Tafilalet Oasis in Libya is o i
surrounded by a wall to keep out s ’:‘vl\a?’ 5

~ the dust storms, locally called as | a31§) ‘“l & =
simooms. ' | ! 39 3 frg f .
3 9T BE fea &
- Choose from the code given below : furfamr Sfenr I |
(@) Onlyl fors I3t S gE .
' ' (@) W=H1
(b
) iny' 2 ‘ (b) =S 2 e
() Bothland2 (€) Lni3u2 oot i
(d) Neither 1nor2 4 , @ @ 1nEere

Paper | (A-47)




91.

92.

Paper |

Consider the following statements -

1. The Medica] Termination of
Pregnancy (Amendment) Bill
2020 seeks to amend The Medical

Termination of Pregnancy Act,
1971.

The Bill gets up State level
Medical Boards to decide if a
Prégnancy may be terminated
after 24 weeks  in case of
substantial foetal abnormalities.

The Bill specifies that survivors
of rape, victims of incest and
other vulnerable women like
differently abled women and
minors will now be able to opt for

abortion up to 28 weeks on the
advice of two doctors.

Choose the correct statement(s) :
(a) Only 1

(b) Only 1 and 2
(¢) Only1and3
(d) Only1,2and 3

Consider the following statements

1. Odisha recently launched “Drink
from the tap Mission-Sujal” to

ensure the supply of quality
drinking water to the people.

2. Odisha achieved the target of
100 percent  household water
supply connections in 2020.

Choose the correct statement(s) :
(a) Only1

(b) Only 2
(c) Both1land2
(d) Neither 1 nor2

fore sEo’ ¢ €979 W
L & Rt cfiaEn ME USTOH
Gm fas 2020, & W

(b) JI=TH 1MW 2
(¢) &%"&51’*@3
(d d=H 1,203 3"

92. fors FEat § fegrg -

(A-48)

1L &S 3 o5 & g odt i
Wz ¢ firs-ms” 3
99 T % Ud & mumst
Wl F=8z ®et vt o Y |

1

(a)
(b)
) 1wz 2 e
(d)

Scanned with CamScanner




93.

Which Article of the

: : Constitution
provides that it shall be the endeavor
of A St.ate to provide adequate
facility for instruction in the mother
tongue at the primary stage of
education to children belonging to
linguistic minority groups ?

(a) Article 349

(b) Article 350

- (¢) Article 350 A
(d) Article 361 A
94. Choose the incorrect statement among
the following :

1. The Hausa are a primarily
pastoral tribe of Nigeria for
whom cattle is a symbol of
wealth.

2. The Bindibu of Australia are
primitive hunters and prefer to
stay near the source of water.

(a) Onlyl

(b) Only 2

(¢) Both1and2

(d) Neither 1 nor 2

95. As part of ‘Vaccine Maitri’ policy which
of the following countries became
first recipients of the Made-in-India

COVID-19 vaccine.

(a) Nepal and Bhutan

(b) Nepal and Maldives

(¢c) Bhutan and Maldives

(d) Bangladesh and Bhutan

Paper |

(A-49)

93.

94.

95.

i 5 T foagr nigge wdgr ager
ﬁﬁmwém&ﬁmﬁéﬁf&
ITHEN e faedt myefent & wedd
WRAET feY wzsw fem oy

IITTET BET gaLnit gieret 29T |

(a) MEeT 349

(b) MEeE 350

(¢) wgeT 350%

(d) nigET 361

fors feg' a3 Es T<

1. JA" (Hausa) @TEedidmT € WY
39 3 ug UBd JEH I H Ut
3 Us © St & fegeer J |

9. f¥etg (The Bindibu) nHEIEMT
2 wifs yI3s fAast g6 M3 uTEt
T B3 © 33 Ifoz 3 ufus fée
I5 |

(a) o=<® 1

(b) oA=H2

(0 1n3 2T

(d) & 13 a7 2

feg' faoz @n 393 few gt afes-19
AS © AZ 3 Ufgd yus J937 I8 ¢
(a) BUS N3 IS

(b) BJUS N3 HBEE

(c) IT® N3 HBER

(d) HIBEH 13 T
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feg st w
96. Recently again in  controversy, 96. I® at fesre (=2 £

Jallikattu, 1S the bull taming s ar 5‘!’6’:7?( 33, H’Fﬁ'c?@’, F&U\S'

traditiong] sport of which Indian

State ? I & yrets 83 7
(@) Tamil Nadu () 3TfHBEE

(b)) Keraly (b) o

(¢)  West Bengal (c) YsHh €49

(d) Karnataka (d) FTorexT

97. Which among the following nations, | 97, Er.%. ¥ A8 I Ue feIfH3 oA

owing to its steady economic growth, 8.3 ) T Agaat Aot feg fags
has recently graduated from the UN’s

¥H M AfET nrofag feam 9w
official list of Least Developed
4 ?
Countries (LDCs) ? 99 €39 nrfenr I
(a) Maldives (a) Hdtey
(b) Samoa (b) AHMT
(c) Palau (c) uwmg
(d) Vanuatu (d) T3

98. Which of the following is not a foreign
bank in India ?

(a) Citi Bank
(b) Standard Chartered Bank
(¢c) Federal Bank

(d) HSBC

(d) "I,

Paper | (A-50)
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99. In view Of.da re}(flent Supreme Court 09
, consider th . S <
2o stal reglllat'e fOHowlng features 3 fes J€ AUSH dq9e < fe=
of coa ‘1on Zones ip Indig ag <R ¥ MOy 3 B oare 3. ifgEIST
per the CRZ Notificatiqp, : IR < o N i .
g Cf = :tExplloration and extractiop TS fore feimgre & fegrg
e R il ¢ g g=94t I
selectively. gagf;; 2 I _t;
98< JuU 49 w3 fsdm
2. CRZ-2 : Unauthorizeq Structureg wirfamr 3
are allowed to be constructed ip .
thiS zZone. 2 Fﬂ--m.ﬁg -2 2 fg-ﬂ- m feg
3. CRZ-4 : Fishing is permitteq in thig 5 &
ramfr I |
zone.
Choose the correct matches - 3. HMERS-4 fem is fe9
(@) Only1and2 e 3
(b) Only 2 and 3 RIfE g
(¢) Only1and3 &) 173 2
b) dA=TH 2
(d) Only 2 ) I E
(c) J=®1n3 3
d) =% 2
100. Which of the following organisms
is/are colrtlsi‘c?lered as “Benthos” biotic 100. fois et fo TR Ay Fifefe
community y . ; ;
59 fom 3§ mmes sifonr mier 3 9
1. Starfish
. 1. I9nfE
2. Beetles 5 3
3. Opysters S 7 ‘
C t wer using the : o . i MR
hoose the correct ans g fore ast & it it G359 9% -
codes given below : =
(@ 1m3 2
(@) 1and2 g
() 2 3
(b) 2 and 3 G
(c)menls
(d) None of the above : '
Paper | b 9l )
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